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E) 1998 £ 5 BEHERERF — UL » SFAUE BB SN (AR 600,000 T -

¥ F B 750,000 7T » i B ¥ AEXE 10 A JEGeL 48 0RF - iR i 1 % 200,000 7T Fr 4R 485 20%

HE TR ERE 7

a. BLPVEEZ A 600,000 FT R B 750,000 TERES TS BEIR AP I, - B
Hz—thr  BIEERTIT 200,000 902 PR sHA% -

b. BEHTZELAZ M A 600,000 5T K% HE 750,000 JTAE4 SUFIEAEHTH SERP TR A, - ¥
2z —&4y » {2IEFRSA: 160,000 T2 AP e Rk -

c. MEEMTIR 350,000 o2 JE 44 -

d. BT 280,000 To.Z EREATP IR -

2.B DB FAEE-TREG - TEAASRAE 20 5T - SLEHAPEESSS 100,000

TG+ SHEH A RIS S EE A FE AR AAE) - SR IS S 40 TT - EERTER
HE 20% » HEEIMZPERLR 800,000 5T » SNERALRUMERAGRARE T ?
a. 33

b. $6
c. 39 -
d. §12
3.C ATRBERERIIT ¢
- FRA %N
- RO $10,000 $15,000
# 0O® 100,000 130,000
JHE EHRE (20,000) ?
W 100,000
HRGER (10,000)
E%ﬁﬂﬂﬁm&{éefzﬁﬁﬁﬁﬂﬁﬁﬁ 22,500 7C » ﬁﬂﬂﬁﬁ?&lﬁlﬂﬁﬁmﬁ%
T7?
a. $25,000
b. $10,000
c. $12,500
'd. $20,000

4.1998 ££.47) D LY B GET 10 S UR U] RESRTE IS4y — Mt A5TE BHEREAS (T LUTE A 100,000
TC + BN TE SRR - D AR IGTS SHEE 12% AR AR
SHEE 10% » 10%FS 2 B R M TR 6.145 » T 12%FIRENE
5.650 + ALFISEMHETHBEFEIRES 10 45 » WM - B D AR FE AR = S 1E
REF?

a. 30
b. $1,000,000
c. 3614, 500

d. $565,000 (FmindAe hafiEs)
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F /AT 1997 SE3H 320,000 FT2 FAe SR AL AL S —TRITES - WEHEE 11 B
HHT‘%E*UW SRR, IR S IEE 60,000 7 » BXMFIMEZ AR EIRMERTR 5 &
A 1997 ERREA NS LHAM L GRRE T
a. $380,000
b. $367,333
c. $58,000
d. $309,333

6.G /7] 1998 EEFRUOT ¢

e  $480,000
LiEAe eI 240,000
EERFHES 1,200,000

SRR R 600,000 &
# GATE 1998 EEWFEIETHEE 32 T dHEESREmERS T Y
a 332 '
b. $0.8
c. $24
d. 52

7. Iﬂﬁﬁ!ﬁﬂl‘iﬂéﬂﬂ%ﬁﬁﬁﬁmiﬁﬂﬂﬂtﬂmﬁﬁﬁ*fﬂfﬂﬁﬁiiﬁiﬂﬁl ?
a. ‘BWHIETH
b. I ER)
¢. HFIEL)
d. WA ISRy

8. 01TV B AR RS AR S0 7
BTRENEE  BARRR

a, L] : T
b. & i
€, T~ BN

d.

& o

é.H ZVE] 1998 SEIBR S F BRI AFIF 2,500,000 7 + BRBFHIE 500,000 7T HEN T

BHOTF
ST OB B EMSYRIS  $800,000 F $300,000
EERMTEUERFRATIE 1,060,000 B $350,000

AAEE T@ﬁﬁ?f(ﬁ% F?

a. $1,690,000

b. $2,210,000

c. $2,290,000

d. $1,790,000
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10. FH{aris B AR TR © E e Eri Eaael ) ZMIREP ?
3. GHEIEERER

b. FHAE M EIRE

c. HTEHEH BRI &R

d. FEHACA TR R

R

I.Sandlin Company reported net income of $52,500 for 1998. During all of 1998, the
company had 1,000 shares of 10%, $100 par nonconvertible preferred stock outstanding, on
which the year's dividends had been paid. At the beginning of 1998, the company had
7,000 shares of common stock outstanding. On April 3, 1998, the company issued another
2.000 shares of common stock. Common dividends of $17,000 had been paid during 1998,
Required : Compute the Earnings per share of Sandlin Company.(6%4) '

A Reconciliation of Baker Company’s bank account at May 31 was as follows:
Balance from bank statement $10,500

- Deposits in transit 1,500
Bank service charge 4

- Checks outstanding (15}
"Balance from books $11.864

June transactions.
: . _Bank  __Books
Checksrecorded.............ciiiiiiniiiiiiiiinnen $11,500 311,800

Deposits recorded............. e e 8,100 9,000

Service nhérgﬂs recorded............ errre e 12 --

Collection by bank(3$2,000 note plus interest) .. 2,100 --

NSF check returned with June 30 statement.. ... 50 -

Ealam:e, Juned0 ..., e rrenaan 9,138 9,050
Required :

(1). Reconcile the bank account as of June 30 using the bank and book balance to
correct cash format. (10%)
" {2). Give any journal entries that should be made based on the June bank statement
reconciliation. (6%)

3.The Orange Company purchased a machine on January 2,1998 for $60,000. The machine
had an expected life of 8 years and a residual value of $900. The double-declining-balance
method of depreciation is used.
Required : Assuming that the company has a policy of always changing to the straight-line
method at the midpoint of the asset’s life, compute the depreciation for each
year of the asset’s life (6%) | |

(Fam {3488, asfEg)
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§.Boston Company has completed the income statement and balance sheet (summarized and

uncorrected, shown below) at December 31,1998. Subsequently, during an audit, the

following items were discovered.

{a). Expenses amounting to $21,000 were not accrued.

(b). A conditional sale on credit for $36,000 was recorded on December 31,1998, The
goods, which cost $24,000, were included in the ending inventory; they had not been
shipped because the customer's address was not known and the credit had not been
approved. Ownership had not passed.

(c). Merchandise purchased on December 31,1998, on credit for $18,000 was ncluded in
the ending inventory because the goods were on hand, A purchase was not recorded
because the accounting departinent had not received the invoice from the vendor,

(d). The ending invenlory was overstated by $45,000 because of an addition error on the
inventory sheet.

(e). A sale retumn (on account) on December 31,1998, was not recorded: sales amount was
$45,000 and cost, $24,000, The ending inventory did not include the goods returned.

Required : Set up a schedule similar to the one below; make the corrections and derive the

corrected amounts. Indicale increase and decrease for each transaction.
Disregard income taxes.(20%)

Uncorrected 1_H.nmafan:r.nﬂi.nn_ Corrected

Amounts (a) (b)) (c} (d) (e) Amounts
. Income statement:
Sales revenue $270,000
Cost of goods sold 150,000
Gross margin 120,000
Expenses 90,000
Income $30,000
Balance sheet:
Accounts receivable  $126,000
Inventory 60,000
Remaining assets 20,000
Accounts payable 33,000
Remaining liabilities 18,000
Common stock 180,000

Retained earnings 45,000
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B The differences in Tiger Inc.’s balance sheet accounts at December 31, 1998, and

December 31, 1997, are shown here.

increase

{decrease)

ASSETS
Cash and Cash Equivalents
Short-Term Investments
Accounts Receivabie (net)
Inventory
Long-Term Investments
Plant Assets
Accumulated Depreciation

LIABILITIES AND STOCKHOLDERS' EQUITY
* Accounts Payable and Accrued Liabilities
Dividends Payable

" Short-Term Bank Debt R

Long-Term Debt

Commaon Stock (210 par)
- Additional Paid-In Capital

Retained Earnings

The following information relates to 1998:

{a). Met income was $1,580,000.
(b}). Cash dividends of $1,000,000 were declared.

(c). Building costing $1,200,000 and having a carrying amount of $700,000 was sold for

$700,000.

(d). Equipment costing $220,000 was acquired through issuance of long-term debt.
(e). A long-term investment was sold for $270,000. There were no other transactions

affecting long-term investments.

$240,000
600,000
160,000
(200,000)
1,400,000

52,200,000

$(10,000)

320,000
650,000
220,000
200,000
240,000

— 580,000

£2.200,000

(). 20,000 shares of common stock were issued for $22 a share.

" Required : Calculate the following items in Tiger's'1998 statement of cash flows(12%)

{1). Net cash provided by operating activities,
(2). Net cash used in investing activities.
(3). Net cash provided by financing activities.






